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1. A manager wants to examine the monetary error nhgdine sales department in
year 2012. He randomly sampled 100 of the 925 galdéke year, and found the
amount of error in each one. The statistics for ghmple are:x = 6.0 ands =
17.012. Please estimate with 95% confidence theageeamount of error per sale
for year 2012.1t; o5 100= 1665, tg05100=1984 (8 #).

2. Consider the following ANOVA table for a 2-factoxperiment.

Source d.f. SS
Factor A 2 184.333
Factor B 1 28.167
A*B Interaction 2 8.333
Error 18 185.0

(1) Test the significance @&%*B, A, andB, usea=0.10. (9%")
(2) Is the test foB conclusive? Why or why not? @)

3. You are the chief executive officer (CFO) of Centabiotechnology company. You
try to predict the return on equity (ROE) of thergzany. You assume that ROE is a
function of the previous year’s profit margin (PEhd return on asset (ROA). That
is, PM and ROA in year 2001 predict ROE in year2@M and ROA in year 2002
predict ROE in year 2003, etc. The data are afotfeving:

Observation ROE (%) PM (%) ROA (%)
2001 - 4 4
2002 5 5 5
2003 6 6 6
2004 8 7 7
2005 4 4 4
2006 5 5 5
2007 6 6 6
2008 7 7 4
2009 2 4 5
2010 4 5 6
2011 5 6 5
2012 6 — —

(1) ComputeROE = 3, + 5,PM + B,ROA. (8 »)
(2) The value of adjuste®’. (6 4")

(3) Test the validity of the model usikgstatistic with a =0.10. Is your
assumption correct or not? {6)
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FArfmieh &+ PFE>F)=a
V1 (d.f) a =0.05
v2(d.f) | 1 2 3 4 5 6 7 8 9
1 161.45 199.5(0 215.71 22454 230.1 233.99 236.79 238.8§ 240.54
2 18.51 19.00 19.16 19.25 19.30 19.33 19.35 19.37 19.38
3 10.13 9.55 9.28 9.12 9.01 8.94 8.89 8.85 8.81
4 7.71 6.94 6.59 6.39 6.26 6.16 6.09 6.04 6.00
5 6.61 5.79 5.41 5.19 5.05 4.95 4.88 4.82 4.77
6 5.99 5.14 4.76 4.53 4.39 4.28 4.21 4.15 4.10
7 5.59 4.74 4.35 4.12 3.97 3.87 3.79 3.73 3.68
8 5.32 4.46 4.07| 3.84 3.69 3.58 3.50 3.44 3.39
9 5.12 4.26 3.86 3.63 3.48 3.37 3.29 3.23 3.18
10 4.96 4.10 3.71 3.48 3.33 3.22 3.14 3.07 3.02
11 4.84 3.98 3.59 3.36 3.20 3.09 3.01 2.95 2.90
12 4.75 3.89 3.49 3.26 3.11 3.00 2.91 2.85 2.80
13 4.67 3.81 3.41 3.18 3.03 2.92 2.83 2.77 2.71
14 4.60 3.74 3.34 3.11 2.96 2.85 2.76 2.70 2.65
15 4.54 3.68 3.29 3.06 2.90 2.79 2.71 2.64 2.59
16 4.49 3.63 3.24 3.01 2.85 2.74 2.66 2.59 2.54
17 4.45 3.59 3.20 2.96 2.81 2.70 2.61 2.55 2.49
18 4.41 3.55 3.16 2.93 2.77 2.66 2.58 2.51 2.46
19 4.38 3.52 3.13 2.90 2.74 2.63 2.54 2.48 2.42
20 4.35 3.49 3.10 2.87 2.71 2.60 2.51 2.45 2.39
21 4.32 3.47 3.07 2.84 2.68 2.57 2.49 2.42 2.37
22 4.30 3.44 3.05 2.82 2.66 2.55 2.46 2.40 2.34
23 4.28 3.42 3.03 2.80 2.64 2.53 2.44 2.37 2.32
24 4.26 3.40 3.01 2.78 2.62 2.51 2.42 2.36 2.30
25 4.24 3.39 2.99 2.76 2.60 2.49 2.40 2.34 2.28
26 4.23 3.37 2.98 2.74 2.59 2.47 2.39 2.32 2.27
27 4.21 3.35 2.96 2.73 2.57 2.46 2.37 2.31 2.25
28 4.20 3.34 2.95 2.71 2.56 2.45 2.36 2.29 2.24
29 4.18 3.33 2.93 2.70 2.55 2.43 2.35 2.28 2.22
30 4.17 3.32 2.92 2.69 2.53 2.42 2.33 2.27 2.21
40 4.08 3.23 2.84 2.61 2.45 2.34 2.25 2.18 2.12
60 4.00 3.15 2.76 253 2.37 2.25 2.17 2.10 2.04
120 3.92 3.07 2.68 2.45 2.29 2.18 2.09 2.02 1.96
$5F % 67



F e fefe b B % P(F>Fy) =a
Vi (df) o =0.025
v2(df) 1 2 3 4 5 6 7 8 9
1 647.7¢ 799.5( 864.1 899.5 921.8f 937.1] 948.2] 956.64 963.2¢
2 3851 39.00 3947 3928 39.3( 39.3] 39.3¢ 39.37 39.3¢
3 1744 1604 1544 151 14.8 1471 1464 1454  14.4]
4 12.24  10.6% 9.9 9.6( 9.3¢ 9.2 9.07 8.99 8.9(
5 10.0] 8.43 7.7¢ 7.39 7.14 6.99 6.8 6.76 6.6
6 8.8] 7.26 6.6( 6.23 5.99 5.87 5.7( 5.6 5.57
7 8.07 6.54 5.89 5.57 5.29 519  4.9¢ 4.9(¢ 4.87
8 7.57 6.06 5.4 5.09 4834 469 457 4.43 4.3
9 7.2 5.71 5.0 4.72 448 437  4.20 4.1( 4.03
10 6.94 5.46  4.8% 4.47 424  4.07 3.94 3.89 3.7
11 6.74 5.2  4.63 4.2 4.04 3.89 3.7 3.66 3.59
12 6.54 510 447 412 389  3.73 3.6 3.51 3.44
13 6.4 497 4.3 4.0 371 3.6 3.4 3.39 3.31
14 6.3 4.86  4.24 3.89 3.66 3.5 3.39 3.29 3.2
15 6.2( 477 419 3.8 358  3.41 3.29 3.2 3.17
16 6.17 469  4.0§ 3.73 350  3.34 3.22 3.17 3.04
17 6.04 462  4.01 3.66 344 3.2 3.1 3.06 2.9
18 5.9 4.56 3.94 3.6 33§  3.27 3.1( 3.01 2.93
19 5.94 451 3.9( 3.56 333 3.17 3.09 2.96 2.8
20 5.8 4.46 3.8 3.5 329 3.3 3.0 2.91 2.84
21 5.83 4.43 3.84 3.48 328  3.09 2.97 2.87 2.8(
22 5.79 4.34 3.7§ 3.44 324  3.0% 2.93 2.84 2.76
23 5.7 4.34 3.79 3.4 31§  3.07 2.9( 2.81 2.73
24 5.74 4.37 3.74 3.39 3.1§ 2.99 2.8 2.79 2.7(
25 5.64 4.29 3.6 3.39 3.13 2.97 2.8 2.79 2.6
26 5.66 4.21 3.67 3.33 3.1 2.94 2.87 2.73 2.64
27 5.63 4.24 3.6 3.3 3.04 2.97 2.8( 2.71 2.63
28 5.6 4.22 3.63 3.29 3.06 2.9( 2.7¢ 2.69 2.6
29 5.54 4.24 3.6 3.27 3.04 2.89 2.7¢ 2.67 2.59
30 5.57 4.19 3.59 3.29 3.03 2.87 2.79 2.65 2.57
40 5.4 4.04 3.4 3.13 2.9( 2.74 2.64 2.53 2.4
60 5.29 3.93 3.34 3.0 2.79 2.63 2.5 2.41 2.33
120 5.1 3.8( 3.23 2.89 2.67 2.57 2.39 2.3 2.27
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